5 Port Mechanical Valve
Rubber Seal

Series VFM300

Compact design,
large flow capacity 18 mm?2

High cycle rate,
long life/300 c.p.m. or less

Piping possible to any EXH
port.

Proper countermeasures can be taken
for applications in which the noise of
the exhaust could cause problems to
the surroundings.

Pilot type is selectable.
(Internal pilot and external
pilot)

Foot bracket and manifold
mounting possible.

Specifications

Fluid

Air/Inert gas

Operating pressure

0.15t0 0.9 MPa (1

Ambient and fluid temperature

-5 to 60°C(No freezing)

Effective area

18 mm?

Maximum frequency (Mechanical operation type)

300 c.p.m. or less

Lubrication

Not required (Use turbine oil Class 1180 VG32, if lubricated.)

Port size

Main valve/SUP, CYL port V4, EXH port 1/8

Pilot valve (EXH)/M5 x 0.8

Option

Foot bracket

Mass (Basic)

190g

Note 1) External pilot type Main valve: 0 to 0.9 MPa

Q * Please contact SMC for manifold mounting style.

Pilot valve: 0.15 to 0.9 MPa
Note 2) The standard body can not be retrofitted with a foot bracket.

Model
Actuator Model ﬁ:t:itglr Application
5 Basic VFM350-02-00 — —
'g Roller lever VFM350-02-01 VM-01C Polyacetal roller
e VFM350-02-01S VM-01CS Hard steel roller
% One way roller lever VFM350-02-02 VM-02C Polyacetal roller
k3] VFM350-02-02S VM-02CS Hard steel roller
E Straight plunger VFM350-02-05 VM-05D —
3 Roller ol VFM350-02-06 VM-06D Polyacetal roller
= | noferplunger VFM350-02-065 VM-06DS Hard steel roller
Toggle lever VFM350-02-08 VM-08D —
VFM350-02-30R VM-30CR Red
Push button (Mushroom) VFM350-02-30B VM-30CB Black
VFM350-02-30G VM-30CG Green
c VFM350-02-30Y VM-30CY Yellow
-% VFM350-02-32R VM-32CR Red
) VFM350-02-32B VM-32CB Black
g | Push button (Extended) VFM350-02-32G VM-32CG Green
§ VFM350-02-32Y VM-32CY Yellow
C .
£ | Push button (Flush) VFM350-02-33 VM-33C black. e e
VFM350-02-34R VM-34CR Red
) - VFM350-02-34B VM-34CB Black
Twist selector (2 position) ™y Eva50-02-34G VM-34CG Green
VFM350-02-34Y VM-34CY Yellow
Key selector (2 position) VFM350-02-36 VM-36C —

l®

able.

Note 1) Actuator replacement is available for all types.
Note 2) For push button (mushroom), push button (extended), push button (flush) and a single
unit of fastening ring, refer to pages 1887 and 1888. The other parts are not replace-

Note 3) The handle of the selector (2 position) cannot be removed or replaced alone.

Gentle Automatic Solution Sdn Bhd

Tel :603-80237743 Fax :603-80239743 Email :sales@gentle.com.my http://www.gentle.com.my



5 Port Mechanical Val .
o e Rubber seal Series VFM300

How to Order

VFM35|0|-|02|-(01|S|-| |-

1 Made to Order
(Refer to pages 1882 to 1885 for details.)

X207 Alternate type, Mushroom push button
X219 Push-lock turn-reset type, Mushroom push button

e Option
_ « Foot bracket
o Suffix for actuator F (Only internal pilot)
Actuator type g ::;d steel roller
o Port size 00 Basic B Black Color of
02 Rc V4 01 Roller lever G [Groen push button
N02| NPT V4 02 | One way roller lever Y [Veliow selector
F02 G 05 Straight plunger
06 Roller plunger
e Body option 08 Toggle lever
0 Internal pilot type 30 |Push button (Mushroom)
1 External pilot type 32 |Push button (Extended)
33 | Push button (Flush)
34 |Twist selector (2 position)
36 | Key selector (2 position)
Construction
Non-actuated Actuated
Force

Component Parts No.
No. Description Material Note Description Material Note

1 [Body ADC Platinum silver 8 Valve seat (A) POM

2 | Pilot body PBT ZDC only for extemal pilot type 9 Valve seat (B) POM

3 |Head cover ZDC Black zinc chromated 10 Valve NBR

4 | Spool valve assembly 11 Valve spring Stainless steel

5 |End cover ADC Matt-black 12 Return spring Stainless steel

6 |Piston POM 13 Spool spring Stainless steel

7 |Plunger POM

Gentle Automatic Solution Sdn Bhd
Tel :603-80237743 Fax :603-80239743 Email :sales@gentle.com.my http://www.gentle.com.my



Series VFM300

Series VFM300
Basic -
VFM350-02-00 S S
O e
— JIS Symbol
85 ©1 ©2
ol 20 2x23.8 M5 x 0.8 2 4
- - Accessor’ " (Pi
Ql = 0;:]8 mouning hol}e/ (Pilot exhaust port) ‘l\ @D
* = 315
§ (EN(S)ED)
o
m )
F | m
. Y BN - ¥a
E! Nl . s A c“n’{ BN
' Zy N
2SI e S ER
- ] B o a
o of [ MY o | %i e
’ — 7 i - +0.5 MPa supply
' F.OF.* 16 N
\ 30'? 2x42 P.T. 1.0 mm
3xVa mounting hole 2x Vg oT. 2.0 mm
(SUP CYL port) (EXH port) T.T. 3.0 mm
Roller lever @14 pol
yacetal or head steel roller
JIS Symbol
VFM350-02-01
VFM350-02-01S (87) @) ©2
33 =
g ) S A ARO
Y
M5 x 0.8 315
ENSHE2
%}\ ! 3 E{ (Pilot exhaust port) ENEHED
+ jﬁ} ’ (1
[
e : &
< Rl
i ~ M=
/L_\l\ 1
* f \__) 2] = I{W Jte)
] WA S -0 o ®
1 | I S QN | =
J \)ﬁ . A ¥ N 2
T (]
2 >\ © 8 ;EJ o * 0.5 MPa supply
30.5 \ 2x4.2 26.4 2x s E.CI.)F - > g r’:m
mounting hole L .
3% V4 35 9 (EXH port) o.T. 4.0 mm
(SUP CYL port) T.T. 6.2 mm
One way roller lever 214 polyacetal or head steel roller
VFM350-02-02 (42) /
VFM350-02-02S 33
8 17 = JIS Symbol
R / oo
. l (021)(%2)
gl  wexoe AV Fee©
Q*: (Pilot exhaust port) 315
B 4 III (E1)S)(E2)
-0 {
s &
LS|
] (\l m
2 0
1 )
® o Tl = &)E\ ®
RV * ™ e
s x ®
o } &) & 8 f{} ~ * 0.5 MPa supply
F.O.F. * 7N
30.5 2x4.2 26.4, P.T 2.4 mm
3x Vi 35 mounting hole 2x /8 O. T. 4'
(SUP GYL port) (EXH port) it 8 mm
T.T. 7.0 mm

Gentle Automatic Solution Sdn Bhd
Tel :603-80237743 Fax :603-80239743 Email :sales@gentle.com.my http://www.gentle.com.my



5 Port Mechanical Val .
o e Rubber sea Series VFM300

Series VFM300

Straight plunger
VFM350-02-05 Panel mounting hole

P.T
0.7
T.T
#g
=
[e¢]

x
f

Hexagon nut thick 11, Min. 3
acoss flats 27 __]l__l__M_ax_.ji
o o mE= Vi
ol @ .‘
i 5 Gy Msxos
; (Pilot exhaust port) JIS symbol
Al L %E € ©2)
| ~ 2
T 5 r=— \ T
; 2 ;
Ty o= s D
= e
(); ‘ & B ENG)IED)
® 3 ! — e =
N ¢
ar N b
of | 25 | M= 0= = 0.5 MPa supply
- i . e
305 26.4 F.O.F. * 20N
3xVa - 35 oxas 2x Vs P.T. 1.5 mm
(SUP CYL port) mounting hole (EXH port) O.T. 2.0 mm
T.T. 3.5 mm
Roller plunger
VFM350-02-06 1 @15 polyacetal or head steel roller Panel mounting hole
VFM350-02-06S 7 e M
R / 18 x 1
L W, Hexagon nut thick 11, g -
j‘t» “j:L o) h / acoss flats 27
] e i Min. 3
3 = | 1. Max.11
N e SR S
o M5 x 0.8
(Pilot exhaust port)
41 Q‘} + JIS symbol
i : =
(L%. v £ (021)((312)
N = I bV |VASC
)
<>‘_," N o End e
o & - TN
Van g N TN\L/ (o
\\J>- m 99
= > O [i \g é f} ~ * 0.5 MPa supply
30.5 26.4 F.O.F. = 20N
3xVa P.T. 1.5 mm
0 2x4.2 __2x¥e O.T 2.0 mm
(SUP CYL port) ting hol ' — -
\Toumng nee (EXH port) TT. 3.5 mm
Toggle lever 055 T (Total Travel) 40°
VFM350-02-08 | OFF ON 2 x M18 x 1 Panel mounting hole
) \ /7/7 Hexagon nut thick 5.5, e
\ i S across flats 24 ‘& ]
9 <) 1
o~ L
N M5 x 0.8 Max.7.5
j ! ] (Pilot exhaust port)
@m g 5 N I JIS Symbol
S LS ©NE2)
o T m o 1 2 4
N :
A a1 7 MW, 315
o /5 b 0/ ®© ENSNED
o - e 2Oa=
s T |2
o | 775 Mg Sy
: - =
3x 14 30.5 26.4 0.5 MPa supply
(SUP CYL port) 35 D% 42 2x /s i
mounting hole (EXH port) F.OF. - 15N
e TT. 40°

Gentle Automatic Solution Sdn Bhd

Tel :603-80237743 Fax :603-80239743 Email :sales@gentle.com.my http://www.gentle.com.my



Series VFM300

Series VFM300

Push button (Mushroom) 040 X '51 H Panel mounting hole
VFM350-02-30R/B/G/Y —— "
—|
EE o 2 &
— I
—— Max. 6
. | | B —H-T
= = [F] ] K = Al = M5 x 0.8
/ﬂt‘ @ ° | (Pilot exhaust port) JIS Symbol
< EIkA cn©2
N T AN 2 4
R
& VY4
Va gl =] BN - 315
&)B @ (ENSHED)
l Q = A/
. « @ ! o SN ©
g B ] ©
By . (& L
- | \ « 0.5 MPa supply
i l', 2x42 o T
30.5 \mountingxhole 26.4 F.O.F. 21N
3xVs 35 ____2xVs (F;.'_rr. ‘11'3 S
(SUP CYL port) ( port) T .5 M
Push button (Extended) Panel mounting hole
VFM350-02-32R/B/G/Y o o
g ol O K
T oialw ‘
EaE bl G I Max. 6
=
” i - M5 x 0.8
® [ M (Pilot exhaust port) JIS(?X)ITE(!));I
A
E < @@ g
Sk Adlt/f
x hat BT T TQ:D
~ = (\ 315
(‘}B i 8~ SN . ENS)E)
-l. L ] \ - 2 \ i
Nl § & T -
e oo f}g 9
- - N ‘\ o ) -
; 2] \ & N\ * 0.5 MPa supply
305 x4 o F.O.F. * 21 N
. X 4.
3 x4 35 mounting hole 2.4 2xg (F;-'Il-' ‘113 mm
(SUP CYL por) (EXH pory TT. 6.5 mm
Push button (Flush)
-02-: 38
VFM350-02-33 2 (= Panel mounting hole
223 0 by
= I I [ og Max. 6
= = [FR] i =Y M5 x 0.8 ]
© ] ¢ (Pilot exhaust port)
el | N ©
™~ JIS Symbol
& &
ol = (021) ((22)
f}@ g i B D o
N 2 \ I} KD
- & & VT2 315
oy e ! 2 ENS)E)
L of | 2 \ & @
— ; ] \
o + 0.5 MPa supply
\ 2x42 -
3xV/4 30-5 mountingxhole 26.4 2xVs F.O.F.* 21N
(SUP CYL port) # (EXH port) P.T. 4.8 mm
O.T. 1.7 mm
T.T. 6.5 mm

Gentle Automatic Solution Sdn Bhd
Tel :603-80237743 Fax :603-80239743 Email :sales@gentle.com.my http://www.gentle.com.my




5 Port Mechanical Valve

Series VFM300

Rubber Seal
Series VFM300
Twist selector (2 position) ON
VFM350-02-34R/B/G/Y Panel mounting hole
= * 2
= <
OFF 39 M5 x 0.8 .
238 (Pilot exhaust port) Max. 6
9245
i o Ax o — JIS Symbol
T ©1) (©2)
I | o< L /] e
T ST A\
ng:,] ° 315
| (EXS)E)
afins a3
1 f | .
. e g = o
N ®
9 Y d -
N N = B O
2 « A
7 ] \
3xVs | 30.5 \ 2x4.2 o % 0.5 MPa supply
(SUP CYL port) a5 mounting hole 26.4 2x Vs FOF. 23N
(EXH port) T.T. 90°
.. N .
Key selector (2 position) ° ' Panel mounting hole
VFM350-02-36 . o
B\ ,
M5 x 0.8
.i.H 238 OFF 3'9__ (Pilot exhaust port) »H—M
7
N
— 0| 2 2 JIS Symbol
A R ) (©c2)
| Er T
[ ‘_ . 1\ T
lnild = 315
/ N (ENSHED)
e -
ql =
M~ g I {\
Ve o = ANV B
- g} ! °® N 3
! ? 5 a0
o t Ve 7 | 2
- \>B o ol i
v°—> [ EJ{
— ; 7 ]
3xVa ] 30.5 2x4.2 o
(SUP CYL port) 35 mounting hole 22?("11/8 , * 0.5 MPa supply
Key can be removed at the “on” and “off” positions. (EXH port) _'I:__?F - 2;30':1
External pilot type With foot bracket
VFM351 type VFM350-02-00-F 54 2x45
M5 x 0.8 44 mounting hole
(External pilot port) ‘—’|
| g
3 \i}_;:\:;}j =
O —iy
W et o
A
o €08 ==
9] :
©
A& s
#
L~
N

Gentle Automatic Solution Sdn Bhd
Tel :603-80237743 Fax :603-80239743 Email :sales@gentle.com.my http://www.gentle.com.my




